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Wz, g @ {67797
2 4 8x+2y=3x+2
x—3 | y+1
—:—1 . — V. = — 1.
g T3 ézx Ofy 1.3
A 5x—0.1y=—11

g <51>
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* *
ROBETFEREEIZIV, (D)2 45 4 B5H)

Sx+3y=7
(1)
y=x—3
1
=—(y=2
3) x=7(y=2)
6x—2y=—5

* *
ROET FRENEI IV, (8 fHxd)

4 3

o {3772
5x+9y=-3
2 2

3) §x+§y—3

3(x—2y)+2y=9

<52> g

x=3y—6
20 +7y=1

4x—3y=-3
4
@ {y:%(Bx-}-l)

2x+3y=—10
Sx+y=1
9
\ 7x+2y—3
W1 s s
3779777




m
m
El
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* %
ROESLFEREBEI LIV, (12 81048 (34 & 155
1 2 2x+y=3
—x+—y=—1
m {87797 @ x4l y-3_,
Tx—2y=2x—14 3 2
Sx4+2y=2 52—0.4y=0.2
0.3x—0.1y=—1.2 {1.25x—0.05y= 0.65

gl <53>
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54 #EiHEKX (6
* Kk

RO FERNEEI XN, (102 &1545 3) 205
2x—5%y x—=2y 1

) 3 4 2
D 5142y  3x—2y _26
6 2 3

x—3y 3x+5
3 2

{0.2(1.5x— 6y)=0.5(—0.4x+0.6y)
(2)

%(4x+ 5)—

3x—2y—5—2(4x—5y)=0
{2{5x—4(2x—3y)+4}+5(x—4y)=0

<b4> g
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*
ROFEAREMMELRIV, (12 &£155 3) 20 5)
(1) 4x—3y=2x+y=10

(2) Tx+3y=5x+2y—1=-5

(3) 6x—5y=7x=5x—y—9

JitEl <55>
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* *
ROFEAREMMILIV, (12 £105 34 &155)
(1) x—2y=2x—8y=2

(2) dx+y=2x+>Fy=-1

(3) Sx—y=3x+2y+4=-3

) 3x—y—13=2y=—6x+y—2

<56> J5fE:
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LS. 0. ¢

ROFEAEMME LI, (25 HxX2)
(1) 3x—6y=Tx+4y=27

(x—2y+3)

| oo

@ ZHI73_l3r_4y-1)=

g <57>
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* *

RDE D BHORE, EXABREEZBILNTX S, ROEZHBREZEI LIV, (10 X2
(x+2): (y=1)=9:2
dx+3y=2

Tx—2y=38

@ xiy=2:3

0. 8.4
ROEILFFENEFRZIRX, (15 £ x2)

1 3x—5y=2
x:2y=3:4

<58> JrfE:

2)

) {

%(—2x—5y)—%(—y+3x—5):2y

(3x+5y): 2y—x)=2:1
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% 1 Ve

* %k
ROES FEAREEI I, (25 Hx2)
Lot
(1
£_§=17
x Y

gl <59>
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ROEILFBRERIIRIN, (25 Hx2)
1+y+22="7
1) {x+2y+32=9
2x+4y+2=3

1+y=—-2
(2 {y+z=2
z+x=-—6

<60> e
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LS. 0. ¢

ROESL 3 76 1 RABEREEZ 23, (25 %2
a+b=3
1) lb+c=—4
c+a=5

2x+2y+4z=>5
(2 |2x+4y+2z=-3
2x+y+2=3

e <61>
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*
RDOFRERERIXIRX, (34 X6)

(1) x—9>6 (2) x+12<5
3 4+x<-1 (4) 6x>-—18
() —7x<14 6) —2x>-—8

*
ROFEFREREILIV, (1)) F48 3~ &6

(1) 7Tx+9<4x 2 —2x+1<5
(3) 8x—5<2x+11 4) x+13<6x2—7
(5) 3x+17=>9—b5x 6) 2x+6>9x—8

<62> R
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ROTERERE BTV, (58x4)
(1) 24x—9)<5x (2) 52x+4)>3x—1
3 2—33x—1)=14 (4) 7x—22< —3(2—5x)

*
ROREREBMEILIV, (D~Q) &7TH 495
3x—7 x—5 7

() x—2z= 1 2 T<€x
1 1 4 5 3 _5

R <63>
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*
ROFEREMBILIV, (12 £105 34 &155)

(1) 06x=11x+4

3) 3—-0.52=<0.1x+1.8

<64> RS

2)

4

x—0.8>0.7x+0.4

0.03x —0.26 <0.09 —0.04x
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* *
RDOBRERNEEIRIV, (D~4) &85 (516 &I H)
(1) 3x—6>-3 2 —2x45<—4x—1
(3) x+7=-3x+9 4) 22x—3)=32x—1)
5 1 _2 1

REE <65>
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* *
ROFTEREBE LI, (25 H%2)

1 4x—2 _ T

(1) g(x+3>— 3 §15x+1

(2) 2(3x—0.4)=0.3(4x+8)

<66> fEEI
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*
ROFBIIAREAREMRX2XIN, (12 BTH 3~6) &I
3x—5<4 @ 8x—3<6x+5
x—4<2x 524+9=<9x+13
22x+6=9x—38 n Tx+3>5x—7
3x—7<18—2x x—1=2(3x—8)
5 3x—6>2x—5 6x+7=2x—1
©) 4x4+5=5x42 4x+2=>27x+8

R <67>
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*
ROFTEREMME LIV, (15 Hx%2)
(1) 4x—5=<x+1<13—3x

*
ROFFENEMMZ LIV, 10 Hx2)
(1) —3<5x+2<17

<68> fEE

(2)

@)

Tx—4<5x4+6<8x+12

2<

x—1

<3




